SplashLearn

Addition Word Problems

Solve the word problems.

(D
Rosa bought ten and five-sevenths centimeters (cm) of copper wire to make a science
model. While making the model, she realized that she needs an extra eleven and

one-seventh centimeters of copper wire. What is the total length of the copper wire

she needs?

()

Neo starts from home and covers two and one-half kilometers (km) to the
supermarket. On way back home, he covers five and one-half kilometers. How much

distance does he cover in all?




